K0475

Ta R2 7{4E 2H|QI2| & AE

&5 89/HMF ololx|

oy

THE!:

AHQIEIA AR MY F T 1.4308.

AZICE LIAF 1SO 4762 2! €ZF L{E SO 4032, AH|QIZ|A AEL
@ 30mm O|&F o] &2t LIAFISO 4017, AE|QIZIA AEL

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
S E L A A AEI
Td S8 F{4YE AHl2|A AE
EZS 29
T B 7{4E], AE2l2|A A8
FEHS EFe] A B C D E F G K L M P R S
K0475.11212 A 12,1 12,1 30,5 25 32 35 25 555 655 43 23 495 M6x18
K0475.11414 A 14,1 14,1 30,5 25 32 35 25 555 655 43 23 495 M6x18
K0475.11616 A 16,1 16,1 30,5 25 32 35 25 555 655 43 23 495 M6x18
K0475.11818 A 18,1 18,1 30,5 25 32 35 25 555 655 43 23 49,5 M6x18
K0475.12020 A 20,1 20,1 30,5 25 32 35 25 555 655 43 23 495 M6x18
K0475.13030 B 30,1 30,1 40 384 38 48 - 78 87 58 455 69 M8x30
K0475.14040 B 40,17 40,17 60 50,4 50 63 - 112 124,9 87 52 102,5 M10x35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



